NEFHREREHEE No.1
103 E2E " BEE | @R | RERE | REXR
wE | (m) | (W/mK) (W/K)
SVEE | FAmE1RE 52— VB 16K % [RM EMEE17%] 1.00| 15.43 0.52 8.02
SVEE | FRTE2RE D520—)VinEAt 16K S [RH EHEZE17%] 1.00 17.03 0.52 8.86
SVEE | JLmE1BE 52— VB 16K % [RM EMEE17%] 1.001 17.99 0.52 9.35
HhEE | JLmE2RE D520—)VinEAt 16K [RH EHEZE17%] 1.00( 19.15 0.52 9.96
SVEE | ERE1RE 52— VB 16K % [RHM EMEE17%] 1.00 13.02 0.52 6.77
ShEE | BRME2RE D520—)VinEAt 16K [RH EHEZE17%] 1.00( 13.50 0.52 7.02
SVEE | FAmE1RE 52— VB 16K % [RHM EMEE17%] 1.00 12.54 0.52 6.52
SLEE | FRTE2RE D520—)VinEat 16K S [RH EAEZE17%] 1.00( 13.50 0.52 7.02
SVEE | FA RS 52— VB 16K % [AHM 25 EE40%] 1.00 4.68 0.66 3.09
HVEE | JLmERERE D520—)VinEat 16K [RH 245 3E40%] 1.00 4.68 0.66 3.09
SVEE | ERERERE 52— VB 16K % [AHM 25 EE40%] 1.00 3.12 0.66 2.06
SVEE | PR RETE D520—)VinEAt 16K S [RH 245 EE40%] 1.00 3.12 0.66 2.06
= (rAmElkE (—E)ERE #RE(AL0LL) 1.00 3.20 4.07 13.02
B |ramE1bE (—E)ERS EE(AI0LLL) 1.00 2.24 4.07 9.12
S L (—E)ERE #RE(AL0LL) 1.00 2.24 3.21 7.19
B |ramE2kE (—E)ERS BEE(AI0LLL) 1.00 1.92 4.07 7.81
= (w2 (—E)ERE #RE(AL0LL) 1.00 1.92 4.07 7.81
B |ramE2kE (—E)ERES BEEAI0LLL) 1.00 2.24 4.07 9.12
B |(deE1kE (—E)ERES BEE(AI0LLL) 1.00 0.48 4.07 1.95
B |(eEikE (—E)ERE #RE(AL0LL) 1.00 0.48 4.07 1.95
B |(deE1kE (—E)ERS EE(AI0LLL) 1.00 1.40 4.07 5.70
B (w2 (—E)ERE #RE(AL0LL) 1.00 0.48 4.07 1.95
(w2 (—E)ERS EE(AI0LLL) 1.00 0.84 4.07 3.42
B |(emEm2mE (—E)ERE #RE(AL0LL) 1.00 0.84 4.07 3.42
(w2 (—E)ERS BEE(AI0LLL) 1.00 0.84 4.07 3.42
B (w2 (—E)ERE #RE(AL0LL) 1.00 0.48 4.07 1.95
B |[demE2kE (—E)ERES BEEAI0LLL) 1.00 0.48 4.07 1.95
B |EREIE (—E)ERE #RE(AL0LL) 1.00 1.92 3.21 6.16
B | RE1E (—E)ERES BEEAI0LLL) 1.00 0.48 4.07 1.95
B |RmE2E (—E)ERE £RE(AL0LL) 1.00 1.92 4.07 7.81
B |EELRE (—E)ERES BEEAI0LLL) 1.00 0.96 4.07 3.91
B |E@EE (—E)ERE #RE(AL0LL) 1.00 1.92 4.07 7.81
B | A2k (—E)EREE EE(AI0LLL) 1.00 1.92 4.07 7.81
F? |dcmEiB& SRR BEALLL)XETHSAE L) 1.00 2.76 4.07 11.23
XH# | XFH* WAH AT S5A0—) 13K 2 1.00| 60.83 0.24 14.60
K&K EIERED 52— VBB 16KAE Y [ARM BUEE20%] 0.70| 54.21 0.45 17.08
EREER | B8 [Sh 5] 1.00| 1.82m 1.80 3.28
R | 2B [AREEA) 0.70]| 5.45m 1.80 6.87
TR |AE [SRA] 1.00| 3.64m 1.80 6.55
TR [ A= [REA] 0.70| 3.64m 1.80 4.59




